	Contractor	SSF Bid Schedule	Brisbane Bid Schedule	Combined Total Bid	
	(Contract Award Based on "Combined Total Bid Price")	Results	Results	Results	
1	Interstate Grading & Paving, Inc	\$2,423,042.10	\$315,470.30	\$2,738,512.40	10:
2	G. Bortolotto & Co., Inc.	\$2,455,032.50	\$362,257.10	\$2,817,289.60	108
3	O'Grady Paving, Inc.	\$2,595,964.60	\$338,189.05	\$2,934,153.65	112
	Engineers Estimate	\$2,428,032.00	\$186,415.35	\$2,614,447.35	

				Interstate Grading & Paving, Inc		G. Bortolotto & Co., Inc.		O'Grady Paving, I	nc.
				1		2		3	
					\$2,423,042.10		\$2,455,032.50		\$2,595,964.60
		Unit of							
l	Description		Quantity	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
1	Mobilization and Demobilization	LS	1	\$80,000.00	\$80,000.00	\$55,000.00	\$55,000.00	\$50,000.00	\$50,000.00
2	Clearing, Grubbing and Environmental Protection	LS	1	\$8,000.00	\$8,000.00	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00
3	Public Posting and Notification	LS	1	\$15,000.00	\$15,000.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00
4	Traffic Regulation and Construction Area Signs	LS	1	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$240,000.00	\$240,000.00
5	Changeable Message Signs	EA	6	\$3,500.00	\$21,000.00	\$1,500.00	\$9,000.00	\$1,700.00	\$10,200.00
	Remove Thermoplastic Markings and Striping and						_		
6	Lane Markers	LS	1	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00
	Remove and Replace Storm Drain Manhole Frame							_	
7	and Cover and Adjust to Grade	EA	14	\$1,600.00	\$22,400.00	\$1,000.00	\$14,000.00	\$1,200.00	\$16,800.00
	Remove and Replace Sanitary Sewer Manhole								
8	Frame and Cover and Adjust to Grade	EA	23	\$1,600.00	\$36,800.00	\$1,000.00	\$23,000.00	\$1,200.00	\$27,600.00
	Remove and Replace Survey Monument Frame and								
9	Cover and Adjust to Grade	EA	1	\$1,100.00	\$1,100.00	\$600.00	\$600.00	\$800.00	\$800.00
	Remove and Replace Catch Basin Inlet Frame and								
10	Grate and Adjust to Grade	EA	2	\$2,500.00	\$5,000.00	\$3,500.00	\$7,000.00	\$2,700.00	\$5,400.00
	Remove and Replace Sanitary Sewer Cleanout								
11	Frame and Cover and Adjust to Grade	EA	1	\$1,100.00	\$1,100.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00
12	Adjust Water Valve Box and Cover to Grade	EA	26	\$800.00	\$20,800.00	\$600.00	\$15,600.00	\$800.00	\$20,800.00
13	Adjust Gas Valve Box and Cover to Grade	EA	7	\$800.00	\$5,600.00	\$600.00	\$4,200.00	\$800.00	\$5,600.00
	Adjust Telecommunications Manhole Frame and								
14	Cover to Grade (Revocable Item)	EA	2	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00
15	Adjust Storm Drain Box Cover to Grade	EA	1	\$850.00	\$850.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00
	Remove & Replace Water Meter Frame and Cover								
16	and Adjust to Grade	EA	7	\$300.00	\$2,100.00	\$600.00	\$4,200.00	\$800.00	\$5,600.00
17	Adjust Unknown Cover to Grade	EA	2	\$1,200.00	\$2,400.00	\$600.00	\$1,200.00	\$1,500.00	\$3,000.00
18	Remove Existing 12-inch Storm Drain PVC Pipe	LF	7	\$65.00	\$455.00	\$150.00	\$1,050.00	\$90.00	\$630.00
19	Remove Existing 12-Inch Storm Drain RCP Pipe	LF	75	\$65.00	\$4,875.00	\$125.00	\$9,375.00	\$70.00	\$5,250.00
20	12-inch Storm Drain RCP Pipe by Open Trench	LF	191	\$227.00	\$43,357.00	\$400.00	\$76,400.00	\$400.00	\$76,400.00
21	City Standard Type GO Curb Inlet	EA	7	\$4,600.00	\$32,200.00	\$6,660.00	\$46,620.00	\$7,000.00	\$49,000.00
22	City Standard Storm Drain Manhole	EA	2	\$5,800.00	\$11,600.00	\$11,450.00	\$22,900.00	\$11,000.00	\$22,000.00
23	Inductive Type A Traffic Loop Detectors	EA	6	\$700.00	\$4,200.00	\$1,200.00	\$7,200.00	\$800.00	\$4,800.00
24	Inductive Type D Traffic Loop Detectors	EA	2	\$700.00	\$1,400.00	\$1,200.00	\$2,400.00	\$800.00	\$1,600.00
25	Remove Concrete Sidewalk, C&G, and Base	SF	1256	\$10.00	\$12,560.00	\$4.00	\$5,024.00		\$4,019.20
26	City Standard Concrete Curb and Gutter	LF	415	\$85.00	\$35,275.00	\$80.00	\$33,200.00	\$80.00	\$33,200.00

		Unit of							
Bid Item	Description	Measure	Quantity	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
27	City Standard Concrete Valley Gutter	SF	4320	\$45.00	\$194,400.00		\$179,280.00	\$45.00	\$194,400.00
28	City Standard Concrete Sidewalk	SF	850	\$20.00	\$17,000.00		\$12,750.00	\$14.00	\$11,900.00
29	PCC Curb Ramp	EA	72	\$5,500.00	\$396,000.00		\$349,488.00	\$5,000.00	\$360,000.00
30	Retrofit Detectable Warning Surface (5'x3')	EA	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00
	Additional Minor Concrete for PCC Curb Ramps								
31	(Revocable Item)	SF	2850	\$15.00	\$42,750.00	\$14.50	\$41,325.00	\$15.00	\$42,750.00
32	Permeable Pavers	SF	181	\$60.00	\$10,860.00	\$50.00	\$9,050.00	\$44.00	\$7,964.00
33	Silva Cells (31"x2'x4') with Bioretention Soils	SF	600	\$60.00	\$36,000.00	\$80.00	\$48,000.00	\$80.00	\$48,000.00
34	Remove and Replace Tree	EA	4	\$4,000.00	\$16,000.00	\$4,120.00	\$16,480.00	\$4,100.00	\$16,400.00
35	Filterra Offline (FT06504) - Bioretention	EA	1	\$17,500.00	\$17,500.00	\$24,500.00	\$24,500.00	\$25,000.00	\$25,000.00
36	Full Depth Base Repair (4-inch Depth)	SF	25149	\$5.00	\$125,745.00	\$6.00	\$150,894.00	\$7.30	\$183,587.70
	Full Depth Base Repair Subgrade Over-Excavation								
37	(Revocable Item)	CY	116	\$350.00	\$40,600.00	\$125.00	\$14,500.00	\$130.00	\$15,080.00
	Cold-Planning (Milling) Asphalt Concrete Pavement								
38	(2-inch Depth)	SY	20614	\$6.50	\$133,991.00	\$5.25	\$108,223.50	\$6.25	\$128,837.50
	Cold-Planning (Milling) Asphalt Concrete Pavement								
39	(2.5-Inch Depth)	SY	2989	\$8.00	\$23,912.00	\$6.00	\$17,934.00	\$7.80	\$23,314.20
	Cold-Planning (Milling) Asphalt Concrete Pavement								
40	(3-Inch Depth)	SY	1161	\$10.00	\$11,610.00	\$7.00	\$8,127.00	\$9.50	\$11,029.50
41	Remove Surfacing and Base (2-Inch Depth)	SY	1134	\$8.00	\$9,072.00	\$15.00	\$17,010.00	\$10.00	\$11,340.00
42	Remove Surfacing and Base (6-Inch Depth)	SY	335	\$23.00	\$7,705.00	\$40.00	\$13,400.00	\$30.00	\$10,050.00
43	Subgrade Preperation	SY	1469	\$5.00	\$7,345.00	\$10.00	\$14,690.00	\$10.00	\$14,690.00
44	Subgrade Over-Excavation (Revocable Item)	CY	61	\$100.00	\$6,100.00	\$200.00	\$12,200.00	\$130.00	\$7,930.00
45	Crack Sealing	LS	1	\$25,000.00	\$25,000.00	\$28,500.00	\$28,500.00	\$30,000.00	\$30,000.00
46	Hot-Mix Asphalt Leveling Course (1-Inch)	TON	72	\$220.00	\$15,840.00	\$155.00	\$11,160.00	\$280.00	\$20,160.00
47	Hot Mix Asphalt Overlay (2.5-Inches)	TON	282	\$150.00	\$42,300.00	\$155.00	\$43,710.00	\$158.00	\$44,556.00
48	Hot Mix Asphalt Overlay (6-Inches)	TON	124	\$150.00	\$18,600.00	\$155.00	\$19,220.00	\$190.00	\$23,560.00
49	Hot Mix Asphalt Speed Hump	SF	168	\$25.00	\$4,200.00	\$50.00	\$8,400.00	\$40.00	\$6,720.00
50	Rubberized Hot Mix Asphalt Overlay (2.0-Inches)	TON	2835	\$145.00	\$411,075.00	\$180.00	\$510,300.00	\$173.00	\$490,455.00
51	Rubberized Hot Mix Asphalt Overlay (2.5-Inches)	TON	180	\$145.00	\$26,100.00	\$180.00	\$32,400.00	\$173.00	\$31,140.00
52	Rubberized Chip Seal	SY	13821	\$6.30	\$87,072.30	\$6.00	\$82,926.00	\$6.50	\$89,836.50
53	Polymer Modified Type II Slurry Seal	SY	13821	\$4.80	\$66,340.80	\$5.00	\$69,105.00	\$4.00	\$55,284.00
54	Thermoplastic Traffic Stripe – Detail 21	LF	1692	\$1.60	\$2,707.20	\$3.00	\$5,076.00	\$2.00	\$3,384.00
55	Thermoplastic Limit Line	LF	534	\$5.50	\$2,937.00	\$6.00	\$3,204.00	\$6.00	\$3,204.00
56	Thermoplastic Basic Crosswalk (White or Yellow)	LF	409	\$11.00	\$4,499.00	\$9.00	\$3,681.00	\$11.00	\$4,499.00
57	Thermoplastic Ladder Crosswalk (White or Yellow)	LF	65	\$40.00	\$2,600.00	\$35.00	\$2,275.00	\$50.00	\$3,250.00
58	Thermoplastic Pavement Markings (White or	SF	1069	\$5.20	\$5,558.80	\$5.00	\$5,345.00	\$6.00	\$6,414.00

		Unit of							
Bid Item	Description	Measure	Quantity	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
59	Preformed Thermoplastic Sharrow (White on	EA	37	\$725.00	\$26,825.00	\$700.00	\$25,900.00	\$800.00	\$29,600.00
60	Blue Fire Hydrant Pavement Marker	EA	21	\$25.00	\$525.00	\$20.00	\$420.00	\$30.00	\$630.00
61	Install Sign and Post	EA	38	\$400.00	\$15,200.00	\$305.00	\$11,590.00	\$400.00	\$15,200.00
	Total				\$2,423,042.10		\$2,455,032.50		\$2,595,964.60

				Interstate Gradi	ng & Paving, Inc	G. Bortolotto &	Co., Inc.	O'Grady Paving	, Inc.
				1		2			3
					\$315,470.30		\$362,257.10		\$338,189.05
		Unit of							
Bid Item	Description	Measure	Quantity	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
62	Mobilization and Demobilization	LS	1	\$31,000.00	\$31,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
63	Clearing, Grubbing and Environmental Protection	LS	1	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00
64	Traffic Regulation and Construction Area Signs	LS	1	\$18,000.00	\$18,000.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
65	Public Posting and Notification	LS	1	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00
66	Changeable Message Signs	EA	2	\$3,500.00	\$7,000.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00
	Remove Thermoplastic Markings and Striping and								
67	Lane Markers	LS	1	\$10,000.00	\$10,000.00	\$18,583.00	\$18,583.00	\$9,000.00	\$9,000.00
68	Rubberized Chip Seal	SY	26720	\$4.50	\$120,240.00	\$4.50	\$120,240.00	\$6.50	\$173,680.00
69	Polymer Modified Type II Slurry Seal	SY	26720	\$3.80	\$101,536.00	\$3.90	\$104,208.00	\$4.00	\$106,880.00
	Thermoplastic Traffic Striping – Detail 22 (Dbl								
70	Yellow Centerline)	LF	5482	\$1.60	\$8,771.20	\$3.00	\$16,446.00	\$1.70	\$9,319.40
	Thermoplastic Traffic Striping – Detail 38								
71	(Channelizing Line)	LF	210	\$1.00	\$210.00	\$3.00	\$630.00	\$2.00	\$420.00
	Thermoplastic Traffic Striping – Detail 39 (6" Bike								
72	Lane/Edge Line)	LF	10837	\$.80	\$8,669.60	\$1.30	\$14,088.10	\$.85	\$9,211.45
	Thermoplastic Traffic Striping – Detail 39A (6" Bike								
73	Lane Intersection Line)	LF	94	\$.75	\$70.50	\$3.00	\$282.00	\$.80	\$75.20
	Thermoplastic Traffic Striping – 12" Crosswalk/Limit								
74	Line (White)	SF	177	\$4.00	\$708.00	\$6.00	\$1,062.00	\$5.00	\$885.00
75	Thermoplastic Pavement Markings (White or	SF	453	\$5.00	\$2,265.00	\$6.00	\$2,718.00	\$6.00	\$2,718.00
	Total				\$315,470.30		\$362,257.10		\$338,189.05